RDLLCD LINEAR SOLUTIONS YOUR WAY

2024-05-05, 05:56:40

Bracket 60 x 60

Material: Bracket: Uncoated die-cast zinc
Cap: Black plastic (PA)

Slot 6 mounting material:

8x M6 slot 6 slot nuts with step
8x M6 x 14 screw (DIN 7380)
Slot 12 mounting material:

8x M8 slot 12 slot nuts with step
8x washer (DIN 125)

8x M8x28 screw (DIN7380 )

System: 30 - Slot 6
Type: Angles Brackets and Corners; Fasteners

i 3
> % B "
Frnax (M) Bimax 1 {Mim) KMrmax 2 (Mmj
2000 (e 120

50

30

9

Al

= it

!

[ 10 T
A

57

Rollco A/S « Skomagervej 13 E » 7100 Vejle » Danmark Tel. +45 75 52 26 66 « info@rollco.dk « CVR-nr. 26919010

Page 1 of 2

Every care has been taken to ensure the accuracy of the information in this document, but we take no liability for any errors or omissions. We reserve the right to make changes without prior notice.



RDLLCD LINEAR SOLUTIONS YOUR WAY

2024-05-05, 05:56:40

General Data

| >

9
:'..l_ 6
- 10
2
o = M
e L

>

3

54

57

Comsaton | orpion | oo | e

PZ5010 Bracket 60 x 60 30 - Slot 6 -

PZ5011 Bracket 60 x 60 with mounting 30 - Slot 6 Yes
material and ABDK

PZ5012 Bracket 60 x 60 silver powder coated 30 - Slot 6 -

with mounting material and ABDK

PA1205 Cap 60 x 60 30 - Slot 6 -

PZ5013 Bracket 60 x 60 with mounting 30 - Slot 6 Yes
material and ABDK

SZ0967N Corner Bracket Zn 30 x 30 30 - Slot 6 -

SZ0965N Corner Bracket Zn 20 x 20 30 - Slot 6 -

SZ0964N SZ0964N Corner bracket ZN 20x20 30 - Slot 6 -

Set

Rollco A/S « Skomagervej 13 E » 7100 Vejle » Danmark Tel. +45 75 52 26 66 « info@rollco.dk « CVR-nr. 26919010

Page 2 of 2

Every care has been taken to ensure the accuracy of the information in this document, but we take no liability for any errors or omissions. We reserve the right to make changes without prior notice.



